T o e

4704 + 32 =

Round 54354 to the nearest
thousand =

7% +5% =
Simplify%=

17 + (4 x5) =

16 -9.37 =
0.04x10=
4-16=

3448 x 36 =

743+  =1253

5216 + 32 =

Round 135753 to the nearest
thousand =

8*+3°=
Simplify% =
32-14+(7x3) =
36 —28.07 =

0.4 x 100 =

16 —32 =

5434 x 36 =
1342+  =2643

5728 +32 =

Round 7345900 to the
nearest thousand =

11>+ 9° =
Simplify% =

16 +43—-(3x7) =
75—-45.307 =
0.004 x 100 =
135-231=

8752 x 36 =

4643 +  =13364



T o e

4704 + 32 =147

Round 54354 to the nearest
thousand = 54000

7°+5%=74
Simplify 1% = %

17 + (4 x5) =37

16 -9.37 =6.63
0.04x10=0.4
4-16=-12

3448 x 36 = 124128
743 +510=1253

5216 +32 =163

Round 135753 to the nearest
thousand = 136000

8+3°=91
Simplify% =§
32-14+(7x3)=39
36 -28.07=7.93
0.4x100=140

16 -32=-16

5434 x 36 = 195624
1342 + 1301 = 2643

5728 +32=179

Round 7345900 to the
nearest thousand = 7346000

11% + 9% = 850
Simplify% =§

16 +43—-(3x7)=38
75—-45.307 = 29.693
0.004 x 100 =0.4
135-231=-96
8752 x 36 = 315072

4643 + 8721 = 13364



